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________________________________________________________________________________________________________________________________________________

Candidates who have NOT submitted an assessed essay should answer THREE questions.

Time allowed:  3 hours

Candidates who have submitted an assessed essay should answer TWO questions.

Time allowed:  2 hours

Read carefully the instructions on your answerbook and make sure that the particulars required are entered on each answerbook.

________________________________________________________________________________________________________________________________________________

 1 
Has Szreter's critique of McKeown's view of the mortality decline in Britain exposed it as fatally flawed?

________________________________________________________________________

 2 
The fertility decline in Britain in the late nineteenth and early twentieth centuries was more a response to economic and cultural change than to technological change'. Discuss.

________________________________________________________________________

 3 
`Nuptiality, which now might seem to have little to do with population growth or decline in Britain, used to be of central importance in this context'. Discuss.

________________________________________________________________________

 4 
If cohabitation and remaining single are more acceptable than they used to be, why do so many people still get married?

________________________________________________________________________

 5 
`The myth that heterogamy causes marital problems simply reflects the fact that homogamy is a cultural norm'. Discuss.

________________________________________________________________________
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________________________________________________________________________

 6 
`Women making fertility-related decisions in contemporary Britain do so in the context of both economic and cultural constraints'. Discuss.

________________________________________________________________________

 7 
Are all teenage pregnancies alike?

________________________________________________________________________

 8 
`Public and academic debates relating to marriage tell us more about changing perspectives on marriage and the family than they do about actual changes in marriage and the family'. Discuss.

________________________________________________________________________

 9 
What evidence is there that marriage has been `medicalised'?

________________________________________________________________________

10 
`To be fully understood a separation or divorce needs to be seen from the different points of view of a social historian, a demographer, a marital therapist, and the two people getting separated or divorced'. Discuss.

________________________________________________________________________

11 
Do the disadvantages of being a divorced or separated person in contemporary Britain outweigh the advantages?

________________________________________________________________________

12 
To what extent are the problems of stepfamilies generated or made visible by comparisons with other forms of families?

________________________________________________________________________

13 
Are the origins of suicide and smoking-related lung cancer understood well enough for the reductions set as targets by a `Health of the Nation' document to be realistic?

________________________________________________________________________

14 
To what extent can age-specific internal migration rates give one an insight into the social and economic determinants of internal migration?

________________________________________________________________________

                                                    /continued.....
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________________________________________________________________________

15 
Will mortality levels in less-developed countries ever `catch up' with mortality levels in developed countries?

________________________________________________________________________

16 
`Less-developed countries not only differ from developed countries but also differ from each other. Diverse countries can be expected to experience diverse changes in fertility patterns'. Discuss.

________________________________________________________________________

17 
What determines the success or failure of national population policies?

________________________________________________________________________

18 
What challenges does the ageing population in Britain pose to policy-makers?

________________________________________________________________________

                                                               END
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